This report contains the transfers results.

Contest Name

Ward 17 Springburn-Robroyston

Valid Votes
6,790

Positions to be Filled
Quota
4
1,359

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Graham CAMPBELL	Scottish National Party (SNP)	1,690
Christina CANNON	Scottish National Party (SNP)	1,109
Peter DAVIES	Scottish Liberal Democrats	143
Audrey DEMPSEY	Glasgow Labour	2,184
Madeleine GUTHRIE	Scottish Greens - Delivering For Our Community	288
Farah HAMID	Alba Party for independence	112
Richard JOHNSON	Scottish Conservative and Unionist	614
Thomas RANNACHAN	Glasgow Labour	650
	Total	6,790

Candidate Graham CAMPBELL Elected with 1,690 votes, being in excess of the quota of 1,359 Candidate Audrey DEMPSEY Elected with 2,184 votes, being in excess of the quota of 1,359

This report contains the transfers results.

Stage 2 - Surplus of Audrey DEMPSEY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Christina CANNON	107	0.37774	40.41818
Transfer to Peter DAVIES	50	0.37774	18.88700
Transfer to Madeleine GUTHRIE	54	0.37774	20.39796
Transfer to Farah HAMID	20	0.37774	7.55480
Transfer to Richard JOHNSON	76	0.37774	28.70824
Transfer to Thomas RANNACHAN	1,672	0.37774	631.58128
No further preference	205	0.37774	77.43670
Not transferred due to rounding			0.01584
	Total		825.00000

This report contains the transfers results.

Stage 3 - Surplus of Graham CAMPBELL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Christina CANNON	1,477	0.19585	289.27045
Transfer to Peter DAVIES	20	0.19585	3.91700
Transfer to Madeleine GUTHRIE	55	0.19585	10.77175
Transfer to Farah HAMID	13	0.19585	2.54605
Transfer to Thomas RANNACHAN	44	0.19585	8.61740
No further preference	77	0.19585	15.08045
Not transferred due to rounding			0.01350
	Total		331.00000

This report contains the transfers results.

Stage 4 - Surplus of Christina CANNON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Peter DAVIES	57	0.05538	3.15666
Transfer to Madeleine GUTHRIE	421	0.05538	23.31498
Transfer to Farah HAMID	83	0.05538	4.59654
Transfer to Thomas RANNACHAN	150	0.05538	8.30700
Transfer to Peter DAVIES	8	0.02092	0.16736
Transfer to Madeleine GUTHRIE	17	0.02092	0.35564
Transfer to Farah HAMID	1	0.02092	0.02092
Transfer to Thomas RANNACHAN	38	0.02092	0.79496
Transfer to Peter DAVIES	87	0.01084	0.94308
Transfer to Madeleine GUTHRIE	489	0.01084	5.30076
Transfer to Farah HAMID	114	0.01084	1.23576
Transfer to Thomas RANNACHAN	215	0.01084	2.33060
No further preference	391	0.05538	21.65358
No further preference	41	0.02092	0.85772
No further preference	563	0.01084	6.10292
Not transferred due to rounding			0.02309
	Total		79.68863

This report contains the transfers results.

Stage 5 - Exclusion of Farah HAMID

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Peter DAVIES	11	1.00000	11.00000
Transfer to Madeleine GUTHRIE	31	1.00000	31.00000
Transfer to Richard JOHNSON	4	1.00000	4.00000
Transfer to Thomas RANNACHAN	16	1.00000	16.00000
Transfer to Madeleine GUTHRIE	3	0.37774	1.13322
Transfer to Richard JOHNSON	1	0.37774	0.37774
Transfer to Thomas RANNACHAN	12	0.37774	4.53288
Transfer to Madeleine GUTHRIE	5	0.19585	0.97925
Transfer to Richard JOHNSON	1	0.19585	0.19585
Transfer to Thomas RANNACHAN	1	0.19585	0.19585
Transfer to Peter DAVIES	4	0.05538	0.22152
Transfer to Madeleine GUTHRIE	28	0.05538	1.55064
Transfer to Thomas RANNACHAN	12	0.05538	0.66456
Transfer to Peter DAVIES	3	0.01084	0.03252
Transfer to Madeleine GUTHRIE	41	0.01084	0.44444
Transfer to Richard JOHNSON	1	0.01084	0.01084
Transfer to Thomas RANNACHAN	9	0.01084	0.09756
No further preference	50	1.00000	50.00000
No further preference	4	0.37774	1.51096
No further preference	6	0.19585	1.17510
No further preference	39	0.05538	2.15982
No further preference	1	0.02092	0.02092
No further preference	60	0.01084	0.65040
Not transferred due to rounding			0.00000
	Total		127.95407

This report contains the transfers results.

Stage 6 - Exclusion of Peter DAVIES

181.32514

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Madeleine GUTHRIE	54	1.00000	54.00000
Transfer to Richard JOHNSON	19	1.00000	19.00000
Transfer to Thomas RANNACHAN	46	1.00000	46.00000
Transfer to Madeleine GUTHRIE	9	0.37774	3.39966
Transfer to Richard JOHNSON	7	0.37774	2.64418
Transfer to Thomas RANNACHAN	24	0.37774	9.06576
Transfer to Madeleine GUTHRIE	6	0.19585	1.17510
Transfer to Richard JOHNSON	2	0.19585	0.39170
Transfer to Thomas RANNACHAN	2	0.19585	0.39170
Transfer to Madeleine GUTHRIE	21	0.05538	1.16298
Transfer to Richard JOHNSON	5	0.05538	0.27690
Transfer to Thomas RANNACHAN	12	0.05538	0.66456
Transfer to Madeleine GUTHRIE	3	0.02092	0.06276
Transfer to Richard JOHNSON	1	0.02092	0.02092
Transfer to Thomas RANNACHAN	1	0.02092	0.02092
Transfer to Madeleine GUTHRIE	29	0.01084	0.31436
Transfer to Richard JOHNSON	1	0.01084	0.01084
Transfer to Thomas RANNACHAN	15	0.01084	0.16260
No further preference	35	1.00000	35.00000
No further preference	10	0.37774	3.77740
No further preference	10	0.19585	1.95850
No further preference	23	0.05538	1.27374
No further preference	3	0.02092	0.06276
No further preference	45	0.01084	0.48780
Not transferred due to rounding			0.00000
	Total		181.32514